ADDRESS :

ProJECT TITLE

SS M8 BOLT & NYLOC NUT

6mm THK. I BRACKET (BY OTHERS)

BRICK VENEER (BY OTHERS)

SS CONCRETE SCREW

FLASHING ( BY OTHERS)

% NOTE - "WATER MAY DRIP BEHIND FLASHING OVER TIME
REFER TO THE CHASED FLASHING DETAIL TO PREVENT THIS"

RHS SUPPORT FRAME
SIDE RAIL

LOUVRE BLADE

——SPRING LOADED AXLE

SS M8 BOLT & NYLOC NUT

SS TEK SCREW
INTERNAL GUTTER

MORTAR TO SEAL (BY OTHERS)

CAVITY

N - %,
A
1 - =
L

i ] BD -

B || e

L Y //)
CROSS SECTION VIEW

TIMBER FRAMING (BY OTHERS)

LOUVRE ROOF TO BRICK VENEER FIXING DETAILS

SS M8 BOLT & NYLOC NUT

6mm THK. I BRACKET (BY OTHERS)

MORTAR TO SEAL (BY OTHERS)

BRICK VENEER (BY OTHERS)

—
==

FLASHING ( BY OTHERS)

RHS SUPPORT FRAME
SIDE RAIL

*ﬁ LOUVRE BLADE

r=——= SPRING LOADED AXLE

SS M8 BOLT & NYLOC NUT
S TEK SCREW

INTERNAL GUTTER

- 1 S

MORTAR TO SEAL (BY OTHERS)

N

CAVITY

CROSS SECTION VIEW - ( CHASED FLASHING)
LOUVRE ROOF TO BRICK VENEER FIXING DETAILS

TIMBER FRAMING (BY OTHERS)

AURAE

Making hous

5 look good.

LOUVRE ROOF TO BRICK FIXING DETAILS

JoreeT ConTEnTS :

4 BEATRICE TINSLEY CRESCENT.ROSEDALE AUCKLAND NZ
PHONE : +64 92188690

EMAIL: sales@
WEBSITE : www.

DATE : 1610821
scaLe : NTS

LOCATION: A
JOB NUMBER: Im

OWNER :

CONFORME

SHEET No:

LOUVRE ROOF TO BRICK
FIXING DETAILS

1

DRAWN BY - jaboargouc o

COMMENCING WORK

NOTES : VERIFY SITE MEASUREMENT BEFORE

(A4 PAPER SIZE]




	Sheets and Views
	BRICK FIXING DETAILS


